


Getting to know you

1. Please let us know how familiar you are to this paper and this specification:
* | am completely new to it
* | have been teaching it for less than two years

* | have been teaching it for more than two years

2. How did your candidates perform in GCSE this summer?
* Better than expected
* More or less as we expected

* Lower than we expected
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Improvements to the GCSE exams

As part of our ongoing review of our qualifications, we looked at the level of
demand and accessibility of our GCSE Geography specifications

and assessments and in response to this, we made the following improvements
in the exams.

* No longer have ‘Explain/Suggest’ questions for 4 marks that are not
structured/scaffolded. Continue to use ‘Explain/Suggest’ for 4 marks that are
structured/scaffolded e.g. 'Explain/Suggest two

* made minor changes to the phrasing of questions to make the wording clearer
to students, this includes some of our 8 mark extended response questions.
Our command words and question styles remain the same

* added additional instructions to candidates to remind them to refer
to resources in their responses in some of our 8-mark extended response and
Explain/Suggest questions

* reviewed the level of detail in resources used in our exams to
ensure information is accessible.
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Grade Statistics GCSE Geography B

2024

2023

2024

2023

2024

2023

2024

2023

2024

2023

Spec. B

4.8

4.8

25.3

25.8

54.5

55.5

82.2

81.7

98.4

98.4

* There is not much variation in the grade outcomes between 2023 and 2024, except for the

grade 5 boundary whereby 1% less of candidates converted.

* More students gained a grade 2 and 3 however.




2024 vs 2023 grade boundaries

Geography B
Overall grade boundaries MaxMark 9 8 7 .6 5 4 3 2 1)\ U

1GB0 Geography B Subject 256 210 193 177 \458 139 120 86 52 19/ 0
Paoer(s) 01 02 03

[ Goography B S s e T P

Overall grade boundaries MaxMark 9 8 7 6 S5 4 3 2 1 U
1GBD Geography B Subject 256 211 194 177 156 136 116 82 48 14 0
Paper(s) 010203

* \Very little movement grades 7-9.
* Three marks more for a grade 5.

* Four marks more for grades 2—4.



Overview of exam performance GCSE Geography A

Geography A
Overall grade boundaries Max Mark 9 8 7 6 5 4 3 2 1 U
1GA0 Geography A Subject 256 209 193 177 157 138 119 84 50 16 O

Paper(s) 01 02 03

Geography A

Notional component grade boundaries Max Mark 9 8 7 6 5 4 3 2 1 U

1GA0  Geography A Raw 94 74 68 63 55 48 41 28 16 4 0
Paper 01

1GA0  Geography A Raw 94 73 67 62 54 47 40 28 16 5 0
Paper 02

1GA0  Geography A Raw 64 59 54 49 44 40 36 26 16 7 0
Paper 03

GCSE Geography A

9 8 7 6 5 4 3 2 1
2024 2023 2024 2023 2024 2023 2024 2023 2024 2023 2024 2023 2024 2023 2024 2023 2024 2023
Pearson Edexcel A | 6.7 6.5 16.3 15.4 28.5 26.9 43 40.9 56.1 54.7 67.4 66.9 81.9 81.6 92.4 92 98.3 98







Recent improvements to the exams

For the 2024 exams we:
* Introduced scaffolding on all 4-mark questions (Explain/Suggest)

(f) Explain two ways that tropical rainforests can be managed sustainably. (d) Explain one negative social impact and one negative economic impact of
rapid development.

Social

Economic



The "Explain/Suggest’ questions

« ‘Explain’ questions dominate the GCSEs

« (Candidates need to be instructed about the difference between ‘describe’
and ‘explain’.

* |n other words, the command word needs to be understood, as does how it
appears.

« Explain questions can be worth 2, 3 or 4 marks:

« Explain one...
« Explain two... (always scaffolded and worth 4 marks)

« Explain why/how (max 3 marks)
« ‘Suggest’ will always be used with a resource.
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The ‘Assess/Evaluate’ questions — the
challenges and opportunities

Across the whole GCSE there are 9 ‘assess/evaluate’ questions (10
if we include the final 12-mark summative question on Paper 3).

Some of these questions are tied to a resource, or resources, so
combine AO4 and AQO3.

The other question on one or other of the fieldwork options also

combines AO3 and AO4 but has no resource relying on candidates'
ability to 'communicate enquiry specific findings with (varying) levels
of clarity’. In other words, an understanding of their familiar fieldwork.

© Pearson Education 2023
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Assess/Evaluate questions — the ‘familiar’
fleldwork question

There are six enquiry questions — candidates need to be familiar with
these, set in the context of their own fieldwork experience in their two
chosen environments (rivers or coasts, and either urban or rural).

1.

2.
3.
4

What is being investigated? What is the enquiry question?
What techniques and methods were used to collect the data?
How was that data presented?

How was that data analysed? Were theories or models used in that
analysis?

What conclusions were drawn reflecting back on the original
question?

What were the strengths and weaknesses of the whole process?

© Pearson Education 2023
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Command words

Explain

To explain something is to provide a reasoned explanation of how or
why something occurs; this requires a justification/exemplification of
a point.

Assess/Examine

Assessment involves the use of evidence to determine the relative
significance of something having given consideration to all relevant
factors and to identify which are —'is or are' most important.

Evaluate

Evaluation involves weighting up the pros- and cons- of something
and coming to a justified conclusion based on the evidence

© Pearson Education 2023
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words (8-mark questions)

Command Word

Definition

AO's

Describe

Give main characteristics of
something (AO4) OR state steps ina
process (AO2).

AO2 OR AO4

Compare

Give both the similarities and
differences of something.

AO2 OR AO4

Explain

Give developed reasons for how or
why something happens.

AO2 OR AO3

Suggest

Use your K&U to explain & justify
why something might happen.

AO3

Examine
(8 marks)

Explain how each factor contributes
to the formation and how each
interrelate (work together) (AO3)
using evidence from the resource to
support (AO4) and decide which
factor(s) contribute most
significantly to the formation.

AO3 & AO4

Writing requirements for ‘assess’ and ‘evaluate' command

Command Word

Definition AOQ's
Assess Explain all relevant AO2 & AO3
8 factors involved (AO2)
( marks) and weigh-up to decide
which is most important OR
(AO3),
Explain relevant evidence | AO3 & AO4
from figure (AO4) and
weigh-up to decide which | (4 marks per
is most important (AO3). AQ)
Evaluate Weigh-up the prosand | AO2 & AO3
cons of something
(8 marks) (including evidence to
v’ support) (AO2) and reach
¥ a justified conclusion OR
(AO3).
Weigh-up the pros and AO3 & AO4
cons of information from
figure (AO4) and reach a | (4 marks per
Justified conclusion AQ)
(AO3).
Discuss Give pros and cons of AO2 & AO3
2 ae issue (AO2) and make a AO4
(12 marks) * = Jjudgement (AO3), using
= evidence from figures to | (4 marks per
. = support point(s) (AO4). AQ)




‘Explain’ questions

Put together a list of key words that feature on the specification.

Develop a bank of the different types of ‘Explain...” questions for each topic that
use those keywords.

Don’t get too engaged in any one element — they do not need to know about five
different impacts/strategies for Geog A Paper 1 Section A and Geog B Paper 2
however interesting they might be.

Concentrate your feedback on establishing a clear understanding of what
‘explanation’ looks like!

Use past papers as the medium for revision as often as you can — that will help
with familiarity.

'Beware' of 'Compare’

© Pearson Education 2023
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Q1b

(b) Explain one reason why precipitation is higher in the western regions of the UK.
(2) 2 Qo1b

U
lnw:]m% »{......ffai.qher Nﬂe{ L xijes and. . (ools.. @ _to . condoage......

R JfOF:rm Clouds.... egreen Rasxmsmgmra.ula— n(m‘cn?lur

A good understanding of relief rainfall. 2 marks.



Student responses — Explain one (3-mark)

(i) Explain one reason why rainfall totals vary across the UK.

You must use evidence from Figure 5b in your answer.

(2) 3 Qo5bi




4-mark questions

These discriminate strongly (as designed) .

« 4-mark questions can be data stimulus — e.g. Q3diii required the use of evidence
from a pair of maps

« All four 4-mark questions asked for 2 x extended points — it’s like having 2 x 2-
mark questions:
 State a reason = 1
* give further explanation / extension = 1

This style of question is a historic area of weakness at GCSE and A Level
« 1+1 marks (i.e. one mark per reason) are quite common
* Achieving 2+2 is rare
 the second half is often left blank.

« Candidate performance is stronger on the ‘explain’ two resource-based questions
(AO2 and AQ3).

© Pearson Education 2023 18



Q3b

(b) Explain two ways in which rivers can erode the landscape.
aé Qo3b

1 B NGALOUAC . QONMN- Kk NGO MR AN (OMPETSS. M. CANS . Winitn COM] .
e PORERA BT L0000 N IEONE ORS NN, NN

e 0N COMIYG YORK A WO ME, - deegrama g Od wadenng e Oneened.

Succinct and accurate explanations of hydraulic action and abrasion. 4 marks.



Q3f

(f) For a named megacity in either an emerging or developing country, explain two
ways its location has influenced its growth.

(a|Q03f |

Named megacity

Moo
1. M\LMX 1S MWW@W% \wﬁ; o \ey

AR AT NSRS AR AN NAS AN ANPPNAP NA P AN I AP PIP NI NI AIIPIAE ISR NRP SIS PRI

The candidate has offered two different reasons, one being coastal location
facilitating easier trade, and the other its proximity to the Middle East and
establishing a trade deal/arrangement. 4 marks .



‘Assess/Examine/Evaluate’ questions with

d resource

Remember!

An 8-mark answer generally comes from 3 well-developed and argued
points from the resource — not lists of what the student knows from case
studies.

So candidates need to select three points from the resource and develop
their explanations around an argument.

© Pearson Education 2023
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Mark
O aNWHEUO~

Assess the physical and
human reasons for the
changes in flood event in the
past 100 years. (8)

Overall - ltem: Q04

0 40 80
20 60 100
% Candidates

4 Analyse Figure 2a and Figure 2b which have information about major flood events in
England and Wales between 1920 and 2019.

Figure 2a shows the number of major flood events in each twenty-year period

since 1920.

Figure 2b provides information about the five largest flood events as measured by
the number of properties flooded and the number of deaths.

Number of major flood events

18 +
16
14 4
12+
10 +
8
6
4

y
O__-.-- "

1920-1939 1940-1959 1960-1979 1980-1999 2000-2019

Figure 2a
Date Cause of Location ' Properties Deaths
flooding flooded
1928 Tides, heavy rainfall London and 40,000 14
and snow melt Thames valley
1953 Tides and storm surge E_ast coast. from 24,000 307
Lincolnshire to Essex
Heavy rainfall, Midlands, Northern and
0 river flooding South-east England 35400 L
2013 Heavy rainfall, South-east England 11,000 0
coastal storm surge
Winter storm Northern England
s (Desmond) and Wales 200 9
Figure 2b

22



Assess the possible causes for the differences in the age structure of England’s urban

and rural populations. 7 Analyse the information in Figure 6 which includes the different age structures of the
urban and rural populations of England, in 2020.

« Q4 is broadly physical, Q7 human. Age (years) —r
90 to 94 - - 90 to 94
* They are 8 mark* (plus SPaG on 80 to 84 __I:II:I - 80t0 84
. . [
Q7) questions with a data resource. 70074 I — | L 70t074
I
. . . ) 60 to 64 1 I - 60t06
« The lead instruction is ‘analyse’, T — ] oo
sotos4a— (N - 50 to 54
‘ - 1
then the command word ‘assess 20 t0 44 —  Laoww
analyse in this case simply means 30t0 34 - [— ] F30t034
I ]
‘Study the data’. 20to 24 _I | | - 20t0 24
: C 10t0 14 + [ | - 10t0 14
« These questions discriminate well. s | = s
T I T 1 ml I I I I I I I
Overall - ltem: Q07 9% 7% 5% 3% 1% 1% 3% 5% 7%
12 Percentage of population
Key
10
8 . Rural
5 6
= 4 Urban
2 Nearly 47 million live in urban areas and nearly 10 million live in rural areas
0 The population of both urban and rural areas has risen since 2011
0 40 80

Most of the rural population live within an hour’s journey to a large town or city

20 60 100

% Candidates Figure 6



shown.

AO4 — What do we see in the Figure?

. Stack with
Vegetation
on cliff top Arch a narrower
base
Waves
Collapsed ‘
arch , _
High tide
waterlin
e

Headland made
from chalk

Image source: Pearson Edexcel GCSE Geography A Paper 1 2024

Examine the role of physical processes in the formation of the coastal landforms

AO3 - How does geography
explain what you see?

1. Discordant coastline with
alternating bands of hard and
soft rock.

2. Headland, cave, arch, stack

3. Destructive waves are likely

dominant. Headlands are
exposed to more wave energy
due to refraction of the waves.

4. the dominant processes are

erosion (hydraulic action and
abrasion), although weathering
(biological, chemical)
contribute to the landscape
along with rock falls

0 — 01" 1 - -\



Student responses — Examine

AO3
AO4

A

(d) Study Figures 2b and 2c in the Resource Booklet.

Examine the role of different physical processes in the formation of the coastal
landforms shown in Figures 2b and 2c.

You must use evidence from Figures 2b and 2c in your answer.
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Student responses — Examine

AO3

AO4
{Examine]the role of different I in the formation of the coastal !
IandhmshmninﬁgTreﬁ?&M-cw — AS ‘Q i ,,g-a(z—s ")’ C’t s ""') s
You must use evidence from Figures 2b and 2c in your answer. (3}7 ose ! ‘ “ . —Eo J

e QLM PLavrw\\QooL—: ove leerled of 0SS B82S Lo f"'df"S W\Qam d—awﬂ-‘es cu.oL r;ftr\.»’“@c\‘ of'/‘-—\-d\w‘\-‘l% A

MMM@S&MPMMMM‘ MWWMM%

MM« :
WM Mwwb-ﬁ _______ %MM\PLW%WWMW

| P || J.I_ mecl




Describing distributions — the technique

How to decipher patterns
« (General pattern/distribution. Is it even or uneven?
* Does it sub-divide into coherent areas/zones?

* Any anomalies in these subdivisions?

© Pearson Education 2023 27



Describing distributions — the vocabulary

Limited range of words needed

 Even or uneven

» Dispersed or clustered

» High or low density

Encourage the use of

« relative/comparative language

« ... and get them to manipulate data if at all possible.
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Describing distributions — the reality
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Describing trends — the technique

How to decipher trends:

1. Overview: is it consistent or irregular?

2. Does it sub-divide into coherent periods?
3. Any anomalies in these sub-divisions?

© Pearson Education 2023 30



Describing trends — the vocabulary

Once again, a limited range of terms needed:
« Up/down/constant

« Consistent, irregular

« Rate is faster/slower/constant

© Pearson Education 2023 31



Describing trends — the reality

S
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Change — before and after

Merthyr Tydfil was once
a major centre of UK
industry based on the
co-location of coal and
iron ore.

There were 1.1 million
miners in the UK in 1911
— today there are less
than 500.

Today it is one of the
most deprived towns in
the UK.

Therefore, economic
changes are important.

© Alamy / Volgi archive

© Alamy / John Kinsey, The Photolibrary Wales

© Pearson Education 2023
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POPULATION CHANGE 2011 TO 20174

u u
O | e | I l u I p I e I COMPARING MID-2014 ONS POPULATION ESTIMATES WITH 2011 CENSUS FIGURES (GB) AND MID-2011 NISRA POPULATION ESTIMATES (NI)

£
s

#
* One thing leads to another. ?’

M Over8%
W 6%to7%
MW 5%to6%
B 4%to5%
B 3%to4%
W 2%t03%

1% to 2%

]
Economic growth attracts > |
1 migrants to the city. More people means

0% to 1%

, a bigger market for Pt
Better quality of life in city businesses. W 2%
the city attracts more v

investment, increasing Businesses grow and )
economic growth.

employ more people.
— 1 , i ‘

More tax money means More people working means

more improvements to more taxes for city government.
the city. /

F

Flow diagram showing a multiplier effect

Contains public sector information licensed
under the Open Government Licence v3.0.
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‘Assess/Evaluate’ questions without a
resource

Remember!

* An 8-mark answer generally comes from 3 well-developed and argued
points. Case studies (AOZ2) form the basis of evidence used in developing
an argument (AOQ3)
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Student responses — Evaluate
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AO2

In this question, up to four additional marks will be awarded for your spelling,
punctuation, grammar and use of specialist terminology. O T q/lAM’HU LOF Qe Cun. b

(f) Evaluate whether, in a named developing or emerging country, the positive 3 eonentd M e O DA IO
impacts of rapid development outweigh the negative impacts. QO2f

(8) 2 Q2fsp
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Student responses — Evaluate

In this question, up to four additional marks will be awarded for your spelling,
punctuation, grammar and use of specialist terminology.

() Eval Iy
impacts of rapid devel

in a named developing or ging country, the positi
igh the negative impacts.

8 qozr
® 4 qafs
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(d) Assess the reasons why individuals and organisations may have different views
about the sustainable use of water resources.
8 3 Qosd
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Student responses — Assess

AO2 AO3
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Q3g

(g) Many megacities are experiencing rapid population growth.

For a named megacity, assess the social and environmental challenges caused by
rapid population growth for people living in this city.

Named megacity
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The candidate has offered generic challenges
of rapid population growth in Mumbai. The
response also lacks assessment. 5 marks.







Fieldwork questions

It's essential to teach to
the six stages of fieldwork

enquiry
The exam covers at least
2 of the 6 stages of the

enquiry process each
year.

This means that all of
these stages need to be
covered.

Exam questions focus on
students’ own fieldwork
(familiar context) and on
the fieldwork of others
(unfamiliar context) i.e.
application.

In the examination in any given year, students will be assessed on at least two of the six
enquiry stages below, across both their investigations:

Stage in Description .

the enquiiy Parts 1 and 3 are easily overlooked!

process |

1 Understanding of the kinds of question capable of being investigated throughF
fieldwork and an understanding of the geographical enquiry processes
appropriate to investigate them.

2 Understanding of the range of techniques and methods used in fieldwork,
including observation and different kinds of measurement.

3 Processing and presenting fieldwork data in various ways, including maps, *
GIS, graphs and diagrams (hand-drawn and computer-generated).

4 Analysing and explaining data collected in the field, using knowledge of
relevant geographical case studies and theories.

5 Drawing evidenced conclusions and summaries from fieldwork transcripts and
data.

6 Reflecting critically on fieldwork data, methods used, conclusions drawn and

knowledge gained.

© Pearson Education 2023
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Fieldwork requirements in the
specification

Investigating river processes and pressures

Investigating how and why drainage basin and channel characteristics influence flood risk for SO the Princi pal
people and property along a river in the UK. Examiner will assume

Fieldwork and General focus of fieldwork = .
e ‘ that candidates have:
1. Formulating Students must have an opportunity to develop understanding of y measured Changes
enquiry the kinds of questions capable of being investigated through in river channel
questions fieldwork in river environments. Students must have an .
opportunity to develop a gquestion(s) based on their location and CharaCterIStICS (Or
the task. coastal equivalent)
2. Selecting Fieldwork data collection must include at least: A Used a qualitative
e . itative fieldwork method ch in ri
R Dd_ln:nl?_lijlll]:_llzalgvﬂeeﬁ;c\;u me to measure changes in river method on the
+ one gualitative fieldwork method to collect data on factors that 'faCtOI'S that affeCt
might influence flood risk. . '
3. Secondary data » A flood risk map e.g. Environmental Agency Flood Risk map ﬂOOd ”Sk
SOUrces s« One other source chosen by the centre. bUt can assume
nothing else.
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Fieldwork question pain points

* Qualitative and quantitative data caught many candidates out emphasising the need to know
the difference between qualitative and quantitative data.

* Describe or explain a method
* Sampling strategies

* Similarly, the difference between primary and secondary data still presents a barrier. This links
to a point later that | will make about key terms.

* All of the 8-mark fieldwork questions performed less well. This demonstrates a need to
practice both familiar and unfamiliar equally.



Q9c

(c) Explain one way in which the qualitative data that you collected helped your

investigation.

(2) 2 Qos
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Question Answer Marks
.......................................................................................................................................... S S
9 (c) Award one mark for basic identification of the qualitative (2)
method chosen and one mark for a comment on its
........................................................................................................................................... usefulness. (1+1)

Accurate qualitative data to 'examine
the surrounding characteristics' and
refer to in the 'evaluation’. 2 marks.

For example:

We interviewed a number of local people (1) to discover what
they felt about the flood risk in their area (1)

Do not credit answers that focus on secondary data

Allow any other appropriate response




Describe / Explain one method

(a) (i) Describe one fieldwork method that could have been used by the students to
measure sediment size,

20 Qo2ai
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(i) Explain one disadvantage of using this fieldwork method.
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Describe / Explain one method

(@) (i) Describe one fieldwork method that could have been used by the students to
measure sediment size,
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Describe / Explain one method

(@) (i) Describe one fieldwork method that could have been used by the students to
measure sediment size,

v (22 QO2ai

....... %")W&M\‘b(%’(\damSﬁ\mq\uwsm\bwﬁmmsmx,gok\tw

> TVT S AL NS SANR ... P CSANRA IO VASASU A

O%kwwﬁ‘ﬁk}nnw ..........................................................




Familiar and unfamiliar 8-mark questions

Figure 6

Evaluate the strengths and weaknesses of both the enquiry question and the
outline plan.

You must use evidence from Figure 6 in your answer.
(8)

(b) You have carried out your own fieldwork, investigating how and why deprivation
varies within rural areas in the UK.

Assess the importance of your own (primary) data and secondary data in reaching
your conclusions.
(8)



General guidance to improve performance
on the unfamiliar questions

* Get your timing right — one of the lessons of 2022 is that candidates can do better on this
question than most of the other 8-mark questions across the whole specification

* Be clear why you chose your location (general area for data collection) and how you chose your
sites (the points where you actually took measurements.

* Did you consider how much time your needed to reach your locations and sites and carry out
your work?

* Were there any access problems in collection your data — legal or practical?
* What safety and ethical issues might arise from your attempt to collected primary data?
* Did you use any sampling — was it systematic or stratified and why that choice?

* Be clear what techniques you have used in your primary data collection and how they may
have been both inaccurate and unreliable — was your equipment good enough to produce
accurate measurements?

* How much of your primary data relied on subjective rather than objective data?
* What qualitative data did you collect?

* What were your secondary data sources?
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Common mistakes and tips




Common mistakes across all papers

Exam technique reasons:

Writing style for ‘assess’ and ‘evaluate command
words (8-mark questions).

4-mark (2+2) questions without a resource (AO1
and AO2) — breadth of knowledge.

Developing a chain of reasoning — depth of
knowledge.

Missing out graph completion questions

Not following the rubric (one decimal place etc,
incomplete working) on 'calculate questions'

Imbalance of AO3 andAO4 content for responses
to 'examine/assess' questions

Rubric issues in terms of completing both
optional questions

Content-related reasons:

* Application of knowledge (AO3) — on
‘examine/assess’ questions — explaining in
depth the processes responsible for what
is shown in the resource.

* Recall of geographical vocabulary.

* Superficial or generic K+U of detailed
content linked to 8-mark questions without
a resource



General tips

1. Climate and atmosphere — the majority of answers show a very limited grasp of the physical
processes associated with weather, climate and atmosphere.

2. Ageneral lack of understanding on how river processes change from the upper course to
the lower course.

* The merging of country/people/government — try to move beyond 'it is good for India’.
Remember that Assess and Explain dominate this paper (as they do the others)

* Understand the different types of 8-mark assess questions
* Understand the different types of ‘Explain...” questions

* Understand the AOs that are being tested

* Embed them in your teaching and your testing

* Make your own questions

* All candidates should get something from the 3 resource- based ‘Assess/Examine’ questions
at least Level 1 for saying something about the resource!



Summary

* There are some common strengths across the three exam
papers:
o Candidates are getting better at using the resources

provided more effectively in their responses and this is
increasing performance on those questions more than
those without

* There are some common challenges across the three exam
papers:

@)

Writing responses to meet the demands of 'assess' and
‘evaluate' questions

Explain/suggest one 3-mark questions often present a
challenge

Explain two 4-mark questions without a resource often
present a challenge.




Key terms

* Intermediate technology

» Landscape vs. landform

* Colonialism and neo-colonialism
» Unconventional fossil fuels

« Quantitative and qualitative

« Primary and secondary

|_ = geog-b-key-terms-and-lang-student-guide.pdf
— e e ——— lREALSONCOM) L




Supporting you every step of the way

Editable 2-year and 3-year course
planners.

Schemes of work and topic booklets
for every topic.

Detailed guide to understanding the
exam papers.

Maths for GCSE Geography guide.

Fieldwork guide for GCSE Geography
B.

'Pace Yourself' guide to a 2-year
GCSE course.

Knowledge Organisers for all three
exam papers

Key terms guides for teachers and
students.

GCSE (9-1) Geography
Geography for all

PEARSON
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In the Explain 6- and 8-mark questions, do students need to
bring in other factors from beyond the question wording?

In these ‘Explain’ questions, students are not expected to do any assessment of
the factors that relate to the question, so they aren’t required to make any
judgements about the role/contribution of factors to the context presented in the
question.



In the ‘Assess’ 12-mark questions, how far can students get
In the mark scheme if there is no assessment demonstrated
in their response?

Without with making any form of judgement and argument about the significance
of factors, students would be limited to Level 1 (1-4 marks) in the 12-mark
‘Assess’ questions.



In the extended response questions e.g. the 20-mark
Evaluate questions in Papers 1 and 2, what is the difference
between AO1 and AO2?

In the longer essay questions, AO1 marks are awarded to students for
demonstrating knowledge and understanding of the taught specification content,
its accuracy, and its relevance of the question title. Most of the marks available
in these questions in Papers 1 and 2 are for demonstrating AO2. These AO2
marks are awarded for deconstructing the key terms in the question, their
interpretation of the question title and their selection evidence/examples to
support this, and their judgements/conclusions. P



Can both ‘place studies’ be within one borough/county?
What if the place that my school is in doesn’t have much for
students to study?AQO27

Your local place doesn’t have to be where the school is located, it could be
somewhere relatively nearby that has more for the students to study. You can
choose two places within the same borough or county, for example studying two
contrasting wards within the Royal Borough of Kensington and Chelsea.



